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This is a support to Rabi Yochonon, who maintains the pit and its
bank combine for ten 2°1ov

OVERVIEW

The & 13 explained the reason the 71wn teaches us 121 27 1° 10 (not merely M2
21 121 DT N D Pmas 1w DY) is because the mwn is supportive of 317 ' who
maintains 7IWY? 190%A 70°1m M. Our Mooin discusses the need for this proof.

nvoN asks:
- (3,089 PAVVYT RINZ P93 NI NTA NN NN 1YHUNY PRINSKY 7598 119) NN ON)

And if you will say; but why was it necessary for the mw» (by adding the word
'n°"71') to teach this to us, since we already learnt in a 73w in the last pap of

792Y9%Y ND07 that PoavRA A0 M3; the mawn there states -
= DNV /2 NN INPIHINI DN MY A

A pit that is in a 9"'779, and its bank is ten 2572w high -
- 39 N9V NINIZ 1IN 529 SPINY ZNAWA 131N PRYNN 193) YW )NIN

One may fill from it into a window which is above this 712, and "9, in the X923,

established this 71wn in case where the 112 was close to the 15 -
- S79UYY POIVNN NNPINY 2T 4Y ¥IYN NP

And the 71wn teaches us that 7wph o WRR ANIM 125 °"1 derived it from that

mawn, why do we require another 771w» to teach us the same thing twice?!

N150IN answers:
- S9AN DYPNA NNYN 129V 23 YY N 981D NWNYAY NN 7911 1Y Y

! This means if the pit is (say) five 2°ov deep and the dirt bank around the opening of the pit is also 5 o°r5v high (so
that from the bottom of the pit to the top of the bank is 10 o°ov) they combine that the pit and its bank form a *"i".
Anyone who removes anything from anywhere within the pit (or its bank) into a 7"771 is 2°°17 for RX7.
2 One may lower a pail from the 171 into the M2 and draw the water from the M2 (which is a >"77) into the house
(which is a *"17) through the window. One may carry from a *"71 to a *"711.
3 The M2 was close to the house and there was no 1"711 between the 112 and the house.
4 The issue here is, granted if the 712 would be far from the house and the 2"717 is separating the 912 from the house,
it is understood why we need the X211 to be ten 0°m19w high, because when the pail is raised over the X*2171 it is higher
than ten 215w which is a MWD 01PN, so he can bring the pail from the 112 (a *"77) through the airspace (a Mo OPn)
and into the house (a *"71); however if the M2 is 70%0, why do we need a X°21 at all; there is no 1" between the
712 and the house.
5 According to this we will interpret that when the nawn states that 2°mow > 7123 1021 1"772 M3, it means (not that
the X°717 alone was ten 0°1dv, but rather) that the X°21m71 M2 together were ten onov.
6 Presumably the main concept was taught in 1°217°v 'on, and here it is mentioned briefly.
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And one can say that it is the manner of the Xin to inform us briefly of a

concept even though he already informed us elsewhere of this same concept -
=19 ¥IYN RP DINMIN N RN (x,3 97 5992 W92 19999NRTD

As the X713 states in the beginning of n1292 non, ‘the Xin, in passing, is teaching

us
- 03 mwn 7 p19) DIPII NIVNA NOD YY NIVUNT 23 HY N 791N YN YWY 2>9ynT

That when the sun set, the 375 (who was %2 from his n¥m0), may eat 21n’,

even though that it is an explicit 773w in 2°031 NO®R, which states -
= 07YNA 729 NN NNINA HIIN IWNY 299N

When the sun sets he may eat 772190, and there are many such instances in the

R%2; where a 7277 which was taught once is mentioned again (briefly), so similarly here too
even though it was taught in 1°217°v 'on, our 7Iw» mentions it here briefly as well —

nooIn offers an alternate answer:
= 7YA9NRD P908NT 13PYNY PNINNT NIINON 21I) ON

Or you may also say; from the extra word in our 71w» we learn that they

combine to be considered four oonow -
= SWNRNYMI 2791 NYY NINT DIVN 2991 Na) Yy wnRnYny

And we are discussing the usage of the top of the X711 that it is considered as a

"7 because he can place something on top of the entire 712 and use the entire

space of the X°9117 and the 712, therefore it is considered a >"71 -
= (3,ny 91 parvy) PIN P92 19999NTS

As the X3 states in 791 P=D -

= NA) DY 1M DV 299N0 RD 7 1112) NIONAT NIYY NN NIDINNWI 19991)
And (according to this answer) the 71wn is in a case where the X*97 itself is ten
o°1ov above the ground, for if it is not high ten 0°19Y, one who takes off from the

X117 or puts it on top of the X°7117 will not be 291, for it is not a "7 since it is not M2

", however if it is " m123 one is liable for taking from it and placing it in a 9"777 and vice versa -
= 122 DY ) VPIT RN NIYY 1°112) PNINNA NPT RN Y INX INNYI

" The rim on top of the X1 is not 2’noY '7 %¥ "7 wide; the bank may form a very narrow circle around the 712
However the entire circle (including the hole) is more than 7"v7. The 73wn teaches us that the top of the X7 itself is
considered a >"77 (it is considered a 7"v7 01pn) for we combine the X*911 with the airspace of the M2 in between. This
is therefore a different concept from what the X7n3 taught in 1"217°v 'on, which answers M201n original question.

8 The entire size (length and width) of the M2 and its X711 together across the top of the M3 is 7"v7. Therefore even
though the rim of the X>911 is less than 7"v7, nevertheless it is considered as if it is 7"v7 since one can cover the entire
X2 712 (with a board) and use that entire area which is 7"v7.

% According to this second answer of mooIn, the mwn is not discussing a case where the 112 and the X211 combined
are ten 219w high/deep (as in the first answer of NMooIN), but rather that the X°71 itself is ten 2°now high above the
q"71 around it, and the 71wn is not teaching us anything regarding taking out from or putting something in the M2 (as
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And now it is rightfully understood this which our 7w states both, they ‘are

high ten’!’, and also that he mentions, ‘on top of them’!! -
- MUY 712 NOTIND PNY TN NIYYY 9I0ENY 1PNIINN N

For if the ;12w» meant that they combine for ten, but the X117 is not high ten -
= 9YY NI NPT NN P9V INN NY

It is not properly understood why the ;71w states they were high ten o°rd0-
$IYY 712X NINRYI NODIND 23 DY NINYI 2950 1N 3) 13X DY 1M

And additionally, he who places on top is also not 2511 if he places it on the top
of the X°9 1 if the X°7117 is not ten 2°1dY high.

SUMMARY
The mwn is either teaching us that the walls of the pit and its bank combine for ten
0°nov or that the airspace of the pit and the width of the rim combine for "7 53 '7.

THINKING IT OVER
What are the relative advantages and disadvantages of the two answers in NM»01n?

in the first answer), but rather taking off from or putting something on top of the 8°21. The m1wn is also not teaching
us that the depth of the 112 and the height of the X711 are % q7vx» for that we know from elsewhere, but rather it is
teaching us that the narrow rim of the X°711 is considered a *"771 (a 7"v7 01pn) since we combine the rim of the X>71m
with the airspace of the 712. See 0"17n that even though the X3 writes 7wV 1997087 NI M2 WART °"12 779 ¥»0n
(which seems to support the first answer), nevertheless it will mean (according to the second answer) that just like
the ®°91m M2 is 7 77v¥N concerning the height/depth of », it will also be A7v¥» to combine for an area of 7"v7.
19 This means that the ®77 itself is » mM23, otherwise the top of the X1 is not a >"7n. If, however, the mwn is
teaching us that 1°"270%n 70211 M2 (as in the first answer), why does it state " Pm23w 191 N2 0>, if the X091 is
not " M.
' 123 5 indicates that we are discussing placing or removing something on the top of the 21, not from inside the
T2 (as in the first answer).
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